Tuesday, May 3, 2016 8:34 AM

1 (1\ 8cu6 oo‘m& nj—- Z P‘Q)Z is a mul‘[:f‘)h'cwln‘ve, Punction .
(6 7ts) din  Pd)

(1i)Deduce that D—= 5 e
(6 7ts) PO g P

2. SV(FTOS(, fP (s ")r'ime., Q'meZ+, O\nJ ?,ta

@ ¥ F4m ond vi,(oj’—.:l_)zi Por Some."‘i'el-r, ~then
(5 pt) tm +
‘v:r(a 1) = u%(a_i)t.
() ¥ %{,(&b_i)z 2 , then ‘Ui,(a?-i).—_?)i,(dt-i).bi.

(3?‘&5) ord o
@.1.1) \¥ ‘Uf";(a P _;L)Zz,, 'H\en)'?or Oma he'Z+;

Qr

3@&)) Prove Hhoit v%(in) < po.}rn for any prine. P .
(4',(?;.85;%\& thet ‘U‘;(in)zi +or wny prime  N<Ps2n.
@) Rove Hhat

sts JT@n) - TC2n)
N <(*M< e

[ This cxas C'J\cbas’\ev':s idea t0 shocd

N n
Fo €7 <5

S e W G N W

4 Wrike ‘\r\mo«ajrl(m,cffL N "u'oa'(2 0-2 Bertrand s hv":o'l:kesi&
24 3ts)




